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TOPIC : Properties of matter & Fluid mechanics, Thermal physics,S.H.M.,Wave theory

1. Spring of spring constant 1200 Nm–1 is mounted
on a smooth frictionless surface and attached to
a block of mass 3 kg. Block is pulled 2 cm to the
right and released. The angular frequency of
oscillation is :-

(1) 5 rad/sec (2) 30 rad/sec
(3) 10 rad/sec (4) 20 rad/sec

2. Values of the acceleration x  of a particle moving
in simple harmonic motion as a function of its
displacement x are given in the table below.

16 8 0 –8 –16

x (mm) –4 –2 0 2 4

2x mm/ s

The period of the motion is

(1) 
1

s (2) 
2

s

(3) s
2

(4) s

3. The displacement of a particle varies according to
the relation x = 3 sin 100t + 8 cos2 50t . Which  of
the following  is  INCORRECT  about this motion.

(1) The motion of the particle is S.H.M.

(2) The amplitude of the S.H.M. of the particle is 5 units

(3) The amplitude of the resultant S.H. M. is 73  units

(4) The maximum displacement of the particle
from the origin is 9 units .

4. A pendulum has time period T in air. When it is
made to oscillate in water, it acquired a time period

T' = 2 T . The specific gravity of the pendulum

bob is equal to

(1) 2 (2)  2

(3) 2 2 (4) None of these

1 .  ,  ,

1200 Nm–1  ,

 2 cm  [ +

;   %&

(1) 5 rad/sec (2) 30 rad/sec

(3) 10 rad/sec (4) 20 rad/sec

2.  x  

x  %&

16 8 0 –8 –16

x (mm) –4 –2 0 2 4

2x mm/ s

 %&

(1) 
1

s (2) 
2

s

(3) s
2

(4) s

3.   x = 3 sin 100t + 8 cos2

50t  

; 

(1)

(2)  5 

(3)  73  

(4)  9 

4.  T 

 ;  T' = 2 T  

%&

(1) 2 (2)  2

(3) 2 2 (4) 
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5. Statement–1 : In presence of non-conservative force,
a system cannot execute simple harmonic motion.
Statement–2 : In simple harmonic motion, total
mechanical energy remains constant.
(1) Statement–1 is True, Statement–2 is True ;

Statement–2 is a correct explanation for
Statement–1.

(2) Statement–1 is True, Statement–2 is True ;
Statement–2 is not a correct explanation for
Statement–1.

(3) Statement–1 is True, Statement–2 is False.
(4) Statement–1 is False, Statement–2 is True.

6. Kinetic energy of a particle executing simple
harmonic motion in straight line is pv2 and
potential energy is qx2, where v is speed at
distance x from the mean position. It time period
is given by the expression

(1) 2
q
p

(2) 2
p
q

(3) 2
q

p q
(4) 2

p
p q

7. The motion of a particle represented by
y = sin t – cos t is :-

(1) NOT S.H.M.

(2) S.H.M. with period 
2

 , amplitude 2

(3) S.H.M. with complicated period, amplitude 1

(4) S.H.M. with period 
2

, amplitude 2

8. In order that the resultant path on superimposing
two mutually perpendicular SHMs be a circle, the
condition is that
(1) The amplitude of both SHM should be equal and

they should have a phase difference of /2
(2) The amplitude should be in the ratio 1 : 2 and

the phase difference should be zero.
(3) The amplitude should be in the ratio 1 : 2 and

the phase difference should be /2
(4) The amplitude should be equal and the phase

difference should be zero.

5. ;–1 :  , ; 

;–2 :  ;

(1) ;&1 ; ] ;&2 ; ] ;&2] ;&1

(2) ;&1 ; ]  ;&2 ;  ; ;&2] ;&1

(3) ;&1 ; , ;&2 ; 

(4) ;&1 ; ] ;&2 ; 

6.  pv2

 qx2 ]  v  x ; 

(1) 2
q
p

(2) 2
p
q

(3) 2
q

p q
(4) 2

p

p q

7.  }  y = sin t – cos t  :-

(1) 

(2)   
2

  2  

(3)    1 

(4)   
2

  2  

8. /;

 , ] , %&

(1) , 

/; /2 

(2)  1 : 2 

; 

(3)  1 : 2 , 

/2 

(4) , ; 
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9. On the superposition of two harmonic oscillations
represented by x1 = a  sin ( t + 1)  and x2 = a  sin
( t + 2) a resulting oscillation with the same time
period and amplitude is obtained. The value of

1 – 2 is :-
(1) 120° (2) 90° (3) 60° (4) 15°

10. A simple pendulum having length  is having

speed 2g  at its bottom most point of its

trajectory. Its motion will be :-
(1) Periodic but not SHM

2g

(2) Periodic  as  well  as  SHM
(3) Neither periodic nor SHM
(4) Not periodic but SHM

11. A particle executes SHM with time period T and
amplitude A. Its displacement from mean position
after a time T/8 passing the mean position is :-

(1) 
A
2

(2) 
A

2
(3) 

A

2 2
(4) 

A
8

12. A plane wave is described by the equation

y =3 cos 10
4 2
x

t . The maximum velocity

of the particles of the medium due to this wave is

(1) 30 (2) 
3
2

(3) 3/4 (4) 40

13. The mathematical forms for three sinusoidal
traveling waves are given by

Wave 1 : y(x,t) = (2cm) sin(3x–6t)
Wave 2 : y(x,t) = (3cm) sin(4x–12t)
Wave 3 : y(x,t) = (4cm) sin(5x–11t)

where x is in meters and t is in seconds. Of these
waves:
(1) wave 1 has the greatest wave speed and the

greatest maximum transverse string speed.
(2) wave 2 has the greatest wave speed and wave 1

has the greatest maximum transverse string speed.
(3) wave 3 has the greatest wave speed and the

greatest maximum transverse string speed.
(4) wave 2 has the greatest wave speed and wave

3 has the greatest maximum transverse string
speed.

9.  x1 = a sin ( t + 1)  x2 = a sin ( t + 2)

/;

1 – 2 :

(1)  120° (2) 90° (3) 60° (4) 15°

10.    ,

 2g   %&

(1)

(2)

2g
(3)

(4)

11.  T  A 
/;  T/8 ; /; 

 %&

(1) 
A
2

(2) 
A

2
(3) 

A

2 2
(4) 

A
8

12.  y =3 cos 10
4 2
x

t

/;
%

(1) 30 (2) 
3
2

(3) 3/4 (4) 40

13. ; ; 

 %

 1 : y(x,t) = (2cm) sin(3x–6t)

 2 : y(x,t) = (3cm) sin(4x–12t)

 3 : y(x,t) = (4cm) sin(5x–11t)

 x  t
(1)  1

(2)  2  1 

(3)  3

(4)  2  3 
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14. Consider the snapshot of a wave traveling in
positive x–direction

A

B

(1) The particle A is moving in –ve y–direction
and particle B is moving in +y–direction

(2) The particle B is moving in –ve y–direction
and particle A is moving in +y–direction

(3) Both are moving in the +ve y–direction

(4) Both are moving in the –ve y–direction

15. A flexible string has a length L and mass per unit
length m hangs vertically from a fixed support.
Find the speed of the transverse wave down the
wire at a distance x from support.

(1) xg

(2) (L x)g

(3) 
x

L g
2

(4) 
x

L g
2

16. A sonometer wire has a total length of 2m between
the fixed ends. Two wooden bridges are placed

below the wire at a distance 
2

m
7

 from one end

and 
8

m
7

 from the other end. The three segments

of the wire have their first overtone frequencies
in the ratio :-

(1) 
1 1

1 : :
2 3

(2)  1 :  2  :  3

(3)  1 :  1  :  1 (4)  4 :  2  :  1

14.  x  , = 

A

B

(1)  A  y  B 

y

(2)  B  y  A 

y

(3)  /  y 

(4)  y 

15.  L 
 m
 x

 %&

(1) xg

(2) (L x)g

(3) 
x

L g
2

(4) 
x

L g
2

16. /;  2m 

] 

 ,  
2

m
7

 

 
8

m
7

 [

/;  %&

(1) 
1 1

1 : :
2 3

(2)  1 :  2  :  3

(3)  1 :  1  :  1 (4)  4 :  2  :  1
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17. Following statements are given for a stationary
wave?
(a) Every particle has a fixed amplitude which is

different from the amplitude of its nearest
particle.

(b) All the particles cross their mean position at
the same time.

(c) All the particles are oscillating with same
amplitude.

(d) There is no net transfer of energy across any plane.
(e) There are some particles which are always at rest.
Which of the following is correct :-
(1)  a,  b,  c,  d,  e (2)  a,  c,  d,  e
(3)  b,  c,  d,  e (4)  a,  b,  e

18. The figure (i) shows the graphical representation
of the air molecules in a tube of air (length = L)
at atmospheric pressure on the absolute pressure
P(x) graph. Which one of the following pictures
corresponds to the absolute pressure P(x) graph
of figure (ii).

LO x

P(x)

Fig. (i)

  

P(x)

O x
L

Fig. (ii)
(1)

L x
(2)

L x
(3)

L x
(4)

L x

17. , , , 

(a)  ,

(b) /;  , ; 

(c)

(d)

(e)  ,

, %&
(1)  a,  b,  c,  d,  e (2)  a,  c,  d,  e
(3)  b,  c,  d,  e (4)  a,  b,  e

18. ;  L  , ] 

; =.  P(x) =

(i) = (ii)  P(x)

= 

LO x

P(x)

Fig. (i)

  

P(x)

O x
L

Fig. (ii)
(1)

L x
(2)

L x
(3)

L x
(4)

L x
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19. The graph between the (velocity)2 and
temperature T of a gas is

(1) (2) 

(3) (4) 

20. In a calorimeter, 20 grams of liquid water at 100°C
is mixed with 50 grams of steam at 100°C. The
system is allowed to come to equilibrium.
Assuming that heat exchanged between the
calorimeter and the surroundings can be ignored,
which of the following best describes the net
energy exchange between the steam and the liquid
during the process of coming to equilibrium ?

(1) There is no net energy exchange

(2) Net energy is transferred from the steam to the
liquid, vaporizing some of the liquid

(3) Net energy is transferred from the steam to the
liquid until all of the liquid vaporizes

(4) Net energy is transferred from the liquid to the
steam, condensing some steam

21. 1 calorie is the heat required to increase the
temperature of 1 gm of water by 1°C from

(1) 13.5°C to 14.5°C at 76 mm of Hg

(2) 14.5°C to 15.5°C at 760 mm of Hg

(3) 0°C to 1°C at 760 mm of Hg

(4) 3°C to 4°C to 760 mm of Hg

19. ¼osx)2 rFkk xSl ds rkieku ds e/; ys[kkfp=k gksxkA

(1) (2) 

(3) (4) 

20. ] 100ºC  20 

100°C  50 ;

/; ; .; 

/; 

; 

(1) ; 

(2) ] 

(3) ] 

(4) ] 

21. ;  1 

 1°C <+ ,  ;

(1) 76 mm  13.5°C  14.5°C 

(2) 760 mm  14.5°C  15.5°C 

(3) 760 mm  0 °C  1 °C 

(4) 760 mm  3°C  4°C 
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22. The variation of lengths of two metal rods A and
B with change in temperature are shown in figure.

The ratio of A

B

 is

106

temp. (°C)

T0

B

A
100

104

le
ng

th
(c

m
)

(1) 
3
2

(2) 
2
3

(3) 
4
3

(4) 
3
4

23. A given mass m of a solid is supplied with heat
continuously at a constant rate and the graph
shown in the figure is plotted. If Lf and Lv are
latent heat of fusion and latent heat of vaporization

and S  and Ss are specific heats of liquid and solid
respectively, then

10 90 100 120

steam

temperature

100°C

0°C

-20°C
t(sec)

water

ice

(1) ,f v SL L S S (2) ,f v SL L S S

(3) ,f v SL L S S (4) ,f v SL L S S

24. According to the given information, which of the
following act requires most energy?
Specific heat of ice = 0.50 cal/(g oC)
Specific heat of water = 1.00 cal/(g oC)
Specific heat of steam = 0.48 cal/(g oC)
Specific latent heat of melting of ice = 80 cal/g
Speci f ic  laten t  heat  o f  vapor iza t ion  of
water = 539cal/g
(1) Raise the temperature of 1.0 gram of liquid

water  by  50º  C
(2) Melt  1.0  gram of  ice  at  0º  C
(3) Raise the temperature of 1.0 gram of ice from

73 K to 273 K
(4) Vaporize 0.5 gram of water at 100º C

22.  /  A  B

=   A

B

%&

106

temp. (°C)

T0

B

A
100

104

le
ng

th
(c

m
)

(1) 
3
2

(2) 
2
3

(3) 
4
3

      (4)  
3
4

23.  m 

 ;  Lf  Lv

%  S   Ss %

 %&

10 90 100 120

steam

temperature

100°C

0°C

-20°C
t(sec)

water

ice

(1) ,f v SL L S S (2) ,f v SL L S S

(3) ,f v SL L S S (4) ,f v SL L S S

24.

 = 0.50 cal/(g oC)

 = 1.00 cal/(g oC)

  = 0.48 cal/(g oC)

 = 80 cal/g

 = 539 cal/g

(1) 1.0  50º C <+

(2) 0º C  1.0

(3) 1.0  73 K  273 K <+

(4) 100º C  0.5
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25. Two rods of same length and cross-sectional area
are joined in series. Thermal conductivity of the
rods are in ratio of 2 : 1.The ends are maintained
at temperatures A and B as shown with A > B

and sides are thermally insulated.Which of the
following graph represents temperature gradient

dx
dT

 against x in steady state.

(1) (2) 

(3) (4) 

26. A red star and a green star radiate energy at the

same rate which star is bigger in size.

(1) red

(2) green

(3) both have same size

(4) Can't be say anything

27. The distribution of relative intensity I( ) of
blackbody radiation from a solid body versus the
wavelength  is  shown in the figure.  If  the Wien
displacement law constant is 2.9 × 10-3 mK, what
is the approximate temperature of the object?

(1) 50 K (2) 250 K
(3) 1450 K (4) 6250 K

25.  {

;

 2 : 1  A 

B  A > B 

 
dx
dT

  x /; 

(1) (2) 

(3) (4) 

26.  ,

 %&

(1)

(2)

(3)

(4)

27.  I( )

/; /; = 

 2.9 × 10–3 mK

(1) 50 K (2) 250 K
(3) 1450 K (4) 6250 K
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28. Two different isotherms representing the
relationship between pressure P and volume V at
a same temperature of the same ideal gas are
shown for masses m1 and m2 of the gas
respectively in the figure given, then:

(1) m1 >  m2

(2) m1 =  m2

(3) m1<  m2

(4) All of the above are possible

29. One mole of an ideal monoatomic gas is taken from
point A to C along the path ABC. The initial
temperature at A is T0. For the process A  B C

(1) Heat absorbed = 2RT0

(2) Heat liberated = 2RT0

(3) Change in internal energy = 0

(4) Work done = 0

30. An ideal gas system whose initial pressure is P0

is subjected to changes in volume by isothermal,
isobaric & adiabatic process respectively and on
reducing its volume to half, the pressure are
respectively P1,  P2,  P3 then :-

(1) P1 > P2 >  P3

(2) P2 > P3 >  P1

(3) P3 > P1 >  P2

(4) P3 > P2 >  P1

28.  ,  m1  m2

/;  P-V

(1) m1 > m2

(2)  m1 = m2

(3) m1< m2

(4) 

29.  , ;  ABC

 A  C A  T0

A  B  C

(1)  = 2RT0

(2)  = 2RT0

(3)  = 0

(4)  = 0

30. ;  P0 

] ;] ;  :  }

 ? %

P1, P2,  P3  :-

(1) P1 > P2 >  P3

(2) P2 > P3 >  P1

(3) P3 > P1 >  P2

(4) P3 > P2 >  P1



Hindi / 22122019 , Page 11/40
Enthusiast Common Test 0000CMD302119015

31. One mole of  an ideal gas undergoes a process
whose molar heat capacity is 4R and in which work
done by gas for small change in temperature is
given by the relation dW = 2RdT, then the ratio

P

V

C

C
 is

(1) 7/5 (2) 5/3
(3) 3/2 (4)  2

32. Two Carnot engines A and B are operated in
succession. The first one, A receives heat from a
source at T1 = 800 K  and rejects  to  sink at  T2K.
The second engine B receives heat rejected by the
first engine and rejects to another sink at
T3=300K  If the work outputs of two engines are
equal, then the value of T2 is :-
(1) 100K (2) 300K
(3) 550K (4) 700K

33. In the given figure graph is drawn between 
PV
nT

and P at different temperature, where n is the
number of moles and R is universal constant. Then
which of the following is correct option :-

 Ideal gas 

T1 

T2 

T3 

200 400 600 800 

8.314 

(p
V/

nT
)[

J 
m

ol
1  K

1 ] 

0 

P(atm)  

(1) T1< T2<T3 (2) T1< T2>T3

(3) T1> T2>T3 (4) T1> T2<T3

34. A wire elongates by 2.0 mm when a load W is

hanged from it. If this wire goes over a pulley and

two weights W each are hanged at the two ends,

the elongation of the wire will become.

(1)  0.5  m (2)  1.0  mm

(3)  2.0  mm (4)  4.0  mm

31.  ,

 }

 dW = 2RdT }  ;

 /  4R  P

V

C

C
 

(1) 7/5 (2) 5/3
(3) 3/2 (4)  2

32.  A  B  ,  ,

 A, T1 = 800 K 

 T2K ;  B 

 }  T3 = 300K 

;  ;  }

]  T2  :-

(1) 100K (2) 300K
(3) 550K (4) 700K

33. =  
PV
nT

  P /; ,

, ] ;  n [;  R 

, %&

 Ideal gas 

T1 

T2 

T3 

200 400 600 800 

8.314 

(p
V/

nT
)[

J 
m

ol
1  K

1 ] 

0 

P(atm)  

(1) T1< T2<T3 (2) T1< T2>T3

(3) T1> T2>T3 (4) T1> T2<T3

34.  W  2.0 mm

 ;

 , &,  W , 

 %&

(1)  0.5  m (2)  1.0  mm

(3)  2.0  mm (4)  4.0  mm
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35. Select the correct statement on the basis of the
given graph :

(1) Young's modulus of A is greater but it is less

ductile

(2) Young's modulus of A is greater and it is more

ductile

(3) Young's  modulus  of  A  is  less  and  it  is  less

ductile

(4) Young's modulus of A is less but it is more

ductile
36. A liquid of mass 1 kg is filled in a flask as shown

in figure. The force exerted by the flask on the
liquid is (g = 10 m/s2)
[Neglect atmospheric pressure] :

(1) 10 N (2) greater than 10N
(3) less than 10N (4) zero

37. A vertical glass capillary tube, open at both ends
contains some water. Which of the following
shapes may be taken by the water in the tube?
Assuming radius of both curved liquid surfaces are
same.

(1) (2) (3) (4) 

35.  :

(1) A  ;  ;

(2) A  ;  ;

(3) A  ;  ;

(4) A  ;  ;

36. =  ,  1 kg  ,

 } %
(g  =  10  m/s2)

[ .; ] :

(1) 10 N (2) 10N 

(3) 10N (4) ;

37.  [  ,

; 

(1) (2) (3) (4) 
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38. The pressure of water in a water pipe when tap
is open and closed is respectively 3 × 105 Nm–2

and 3.5 × 105 Nm–2. With open tap, the velocity
of water flowing is

(1) 10 m/s (2) 5 m/s
(3) 20 m/s (4) 15 m/s

39. Two soap bubbles with radii r1 and r2 (r1 > r2) come
in contact. Their common surface has a radius of
curvature r.

(1) 1 2r r
r

2
(2) 

1 2

1 2

r r
r

r r

(3) 
1 2

1 2

r r
r

r r (4) 1 2r r r

40. A sphere of radius 10 cm and density 500 kg/m3

is under water of density 1000 kg/m3. The
acceleration of the sphere is 9.80 m/s2 upward.
Viscosity of water is 1.0 centipoise. If g = 9.81 m/s2,
the velocity of the sphere is :
(1) 9 m/s (2) 10 m/s
(3) 11 m/s (4) 12 m/s

41. It is found that an increase in pressure of 100 kPa
causes a certain volume of water to decrease by
5 × 10–3 percent of its original volume. Then the
speed of sound in the water is about (density of
water 103 kg/m3)
(1) 330 m/s (2) 1414 m/s
(3) 1732 m/s (4) 2500 m/s

42. A racing car moving towards a cliff sounds its
horn. The driver observes that the sound reflected
from the cliff has a pitch one octave higher than
the actual sound of the horn. If v is the velocity
of sound then the velocity of the car is

(1)  
v

2
(2)  

v
2

(3)  
v
3

(4)  
v
4

38. ,  [

, % 3 × 105 Nm–2 

3.5 × 105 Nm–2  [

%&

(1) 10 m/s (2) 5 m/s
(3) 20 m/s (4) 15 m/s

39. r1  r2 (r1 > r2) 

 r ] &

(1) 1 2r r
r

2
(2) 

1 2

1 2

r r
r

r r

(3) 
1 2

1 2

r r
r

r r (4) 1 2r r r

40.  10 cm  ?  500 kg/m3  ,  ?

1000kg/m3  9.80m/s2

 1.0  ;

g = 9.81 m/s2,  :
(1) 9 m/s (2) 10 m/s

(3) 11 m/s (4) 12 m/s

41.  100 kPa 

 ,  5 × 10–3 

 /

(  ?  = 103 kg/m3)

(1) 330 m/s (2) 1414 m/s

(3) 1732 m/s (4) 2500 m/s

42.  , , 

 / ]  /

 2  ;  /

v &

(1)  
v

2
(2)  

v
2

(3)  
v
3

(4)  
v
4
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43. S1 , S2 are two coherent sources of sound located
along x  axis separated by  4   where   is
wavelength of sound emitted by them . Number
of maxima located on the elliptical boundary
around it will be

S1 S2

4

(1)  16 (2)  12

(3)   8 (4)   4

44. A person P is 600 m away from the station when
train is approaching station with 72 km/h. It blows
a whistle of frequency 800 Hz when 800 m away
from the station. Find the frequency heard by the
person. Speed of sound = 340 ms–1

 800 m
S

600 m

P

A 

(1) 800 Hz

(2) 839.5 Hz

(3) 829.5 Hz

(4) 843.5 Hz

45. A string of length 3 m and linear mass density
0.0025 kg/m is fixed at both ends. One of its
resonance frequency is 252 Hz. The next higher
resonance frequency is 336 Hz. Then the
fundamental frequency will be

(1) 84 Hz

(2) 63 Hz

(3) 126 Hz

(4) 168 Hz

43. S1 , S2  / ]  x

4   / /;

 ,

[;  %&

S1 S2

4

(1)  16 (2)  12

(3)   8 (4)   4

44.  P   600 m 

 72 km/h  800 m

 ;  800 Hz

 /  = 340 ms–1

 800 m
S

600 m

P

A 

(1) 800 Hz

(2) 839.5 Hz

(3) 829.5 Hz

(4) 843.5 Hz

45.  3 m ;  ?  0.0025 kg/m 

 ,

 252 Hz  336 Hz

%&

(1) 84 Hz

(2) 63 Hz

(3) 126 Hz

(4) 168 Hz
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46. Incorrect order of IP :-
(1) Pb > Sn (2) Na  >  Mg

(3) Li  <  O (4) Be  < C
47. Select the correct statements about element "Uub":-

(1) It is chalcogen
(2)  Formula of  its  oxide is  MO
(3) It is alkaline earth metal
(4) None of these

48. Magnitude of IP and EA of O and S are 1.47, 10.3,
13.6 and 2.07 (eV) all in random order then :-

(1)  IP  of  O  is  10.3  eV

(2) EA of O is 13.6 eV

(3)  EA of  S is  2.07 eV

(4)  IP  of  S  is  2.07  eV
49. Which of the following E.A. order is not correct?

(1)  N < O < S < F (2)  Cl  > O > N > C

(3)  O < S < F < Cl (4) B < C < Si < S
50. Which of the following is not correct ?

(1) CH4 <  CO2 (E.N. of C-atom)

(2) In < Tl (E.N. order)

(3) NH3 > PH3 > AsH3 > SbH3 (Lewis basic strength)

(4) NO2 >  Na2O > Al2O3 (Acidic strength)

51. In ClO4
– ion maximum number of coordinate

bonds possible are :-

(1)  1 (2)  2 (3)  3 (4)  4

52. Which of the following molecule has irregular
geometry ?

(1) SF6 (2) XeF6 (3) NO3
– (4) CH4

53. Which of the following having maximum

tendency to form polymer with oxygen ?
(1) Si (2) P (3) S (4) Cl

54. Which of the following is correct order ?

(1) C=O >  C O > C=C > C C (Bond strength)

(2) Cl2 > Br2 > F2 > I2 (Bond length)

(3) Cl2 > Br2 > F2 > I2 (Bond strength)

(4) All of these

46. IP  :-
(1) Pb > Sn (2) Na  >  Mg
(3) Li  <  O (4) Be  < C

47. "Uub" ,  :-
(1) 
(2) + = MO 
(3)  { ; 
(4) 

48. O  S  IP, EA  (eV ) 

 1.47, 10.3, 13.6, 2.07  :-

(1)  IP  of  O  is  10.3  eV
(2) EA of O is 13.6 eV
(3)  EA of  S is  2.07 eV
(4)  IP  of  S  is  2.07  eV

49.  E.A.  ?
(1)  N < O < S < F (2)  Cl  > O > N > C
(3)  O < S < F < Cl (4) B < C < Si < S

50. ;  ?

(1) CH4 < CO2 (C  E.N)

(2) In < Tl (E.N. )

(3) NH3 > PH3 > AsH3 > SbH3  { ; )

(4) NO2 > Na2O > Al2O3 ( ; )

51. ClO4
– [;

 :-

(1)  1 (2)  2 (3)  3 (4)  4

52.  (irregular)  ?
(1) SF6 (2) XeF6

(3) NO3
– (4) CH4

53. ] 

(1) Si (2) P (3) S (4) Cl

54.  ?

(1) C=O > C O > C=C > C C ( )
(2) Cl2 > Br2 > F2 > I2 ( )
(3) Cl2 > Br2 > F2 > I2 ( )

(4)

TOPIC : Some basic concepts of chemistry, Structure of atom, Chemical & ionic equilibrium, Some basic
principles and techniques in organic chemistry,  Hydrocarbons, Environmental chemistry, Periodic table,
Chemical bonding and molecular structure, Hydrogen, s- block elements, p- block elements (group 13 &14)
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55. Select the correct for dipole moment order?

(1) NH3 > NCl3

(2) XeF2 = XeF4 < SO2

(3) P(CH3)2 (CF3)3 <  P  (CF3)2(CH3)3

(4) 1 & 2 both are correct

56. A 120 C  B 200 C Anhydride compound
compound A and B is ?

(1) Gypsum, P.O.P.

(2) P.O.P., Gypsum

(3) Ca(OH)2, CaO

(4) CaCO3, CO2

57. What will be the correct order of  melting point
for IIA group.
(1) Ca > Mg > Sr  > Ba > Be
(2)  Be > Ca > Sr  > Ba > Mg
(3)  Ca > Mg > Ba > Sr  > Be
(4)  Be > Mg > Ca > Sr  > Ba

58. What will be the respective colour shown by
Ca, Sr, Na during flame test.
(1) Brick red, Dark red, Golden yellow
(2) Brick red, Red violet, Dark red
(3) Red violet, Brick red, Dark red
(4) Rosy red, Red violet, Brick red

59. Basic unit of silicates ?

(1) SiO4
–4 (2) SiO2 (3)  R2SiO (4) All

60. Which of the following is not a property of CO?

(1) Used in syn gas

(2) CO is poisonous gas

(3) CO converts blue litmus paper into red

(4) CO is ligand

61. Borazine on hydrolysis gives

(1) B(OH)3

(2) NH3

(3) H2

(4) All of these
62. Which of the following general formula is

compatible with alkanamides :-

(1) CnH2n+3NO (2) CnH2n+1NO

(3)  CnH2n–1NO (4)  CnH2n–3NO

55. }/ ;  ?
(1) NH3 > NCl3

(2) XeF2 = XeF4 < SO2

(3) P(CH3)2 (CF3)3 <  P  (CF3)2(CH3)3

(4) 1  2 

56. A 120 C  B 200 C ; ;

 A  B 
(1) Gypsum, P.O.P.
(2) P.O.P., Gypsum
(3) Ca(OH)2, CaO
(4) CaCO3, CO2

57. IIA , 

(1) Ca > Mg > Sr  > Ba > Be

(2)  Be > Ca > Sr  > Ba > Mg

(3)  Ca > Mg > Ba > Sr  > Be

(4)  Be > Mg > Ca > Sr  > Ba

58.  Ca, Sr, Na 

(1) ] ] 

(2) ] ] 

(3) ] ] 

(4) ] ] 

59.  ?

(1) SiO4
–4 (2) SiO2 (3)  R2SiO (4) 

60. CO  ?

(1) syn ( ) 

(2) CO

(3) CO 

(4) CO 

61.

(1) B(OH)3

(2) NH3

(3) H2

(4)

62. ; = ,

 :-

(1) CnH2n+3NO (2) CnH2n+1NO

(3)  CnH2n–1NO (4)  CnH2n–3NO
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63. Which of the following compounds has only one

type of hybridized carbon :-

(1) Propadiene (2) Propenenitrile

(3) Propenal (4) 1, 4-pentadiene

64. Give the correct order of basic strength of the
following compounds :-

(a) CH –C3

NH
NH2

(b) CH3CH2NH2

(c) (CH3)2NH (d) CH3CONH2

(1) b > a  > c  > d (2)  a  > c  > b > d

(3)  c  > a  > b > d (4)  a  > b > c  > d
65. In which of the following pairs of resonance

contributors is the structure on the right a more
contributor :-

(1) H C O:
..

H C O:

(2) CH2 N N: CH2 N N:.. ..

(3) CH3 CH OH CH CH3 O H
..

....
(4) All the above

66. Cyclopentadiene is considerably acidic because :-

(1) Cyclopentadiene is aromatic

(2) Cyclopentadienanion is aromatic

(3) Cyclopentadiene is a ring compound

(4) Its two double bonds are conjugated

67. Give the correct order of decreasing acidic strength
of the following compounds :-

OH

NO2

OH

NO2

CH3

OH

NO2

CH3CH3

OH

NO2

NO2O N2

(I) (II) (III) (IV)

(1) IV > I > II > III (2) IV > I > III > II

(3) I > IV > III > II (4) IV > II > I > III

68. The number of alkadienes (neglecting stereo
isomers) possible with molecular formula C5H8 is:-

(1) 3 (2)  4 (3)  5 (4)  6

63.  ;  ,

 :-

(1) (2) 

(3) (4) 1, 4-

64.  ;  { ; 

, :-

(a) CH –C3

NH
NH2

(b) CH3CH2NH2

(c) (CH3)2NH (d) CH3CONH2

(1) b > a  > c  > d (2)  a  > c  > b > d
(3)  c  > a  > b > d (4)  a  > b > c  > d

65.  ;

 ;  :-

(1) H C O:
..

H C O:

(2) CH2 N N: CH2 N N:.. ..

(3) CH3 CH OH CH CH3 O H
..

....

(4) All the above

66. ;  :-

(1)  ,

(2)  ,

(3)  , ; ;

(4) 

67.  ; ;  ? , 

, :-

OH

NO2

OH

NO2

CH3

OH

NO2

CH3CH3

OH

NO2

NO2O N2

(I) (II) (III) (IV)

(1) IV > I > II > III (2) IV > I > III > II
(3) I > IV > III > II (4) IV > II > I > III

68. = C5H8  ,  (

) :-
(1) 3 (2)  4 (3)  5 (4)  6
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69. The most unlikely represntation of a resonating
structure of the p-nitro phenoxide ion is :-

(1)

N

O

OO

(2) 

N

O

OO

(3) 

N

O

OO

(4) 

N

O

OO

70. Which of the following shows the correct order of
stability :-

(1) CH3OCHCH3 <  CH3OCH2 < CH3CH2CH2

< ClCH2CH2

(2) CH3CH2CH2 < ClCH2CH2 < CH3OCHCH3

< CH3OCH2

(3) ClCH2CH2 < CH3CH2CH2 < CH3OCH2

< CH3OCHCH3

(4) CH3OCH2 <  CH3OCHCH3 < ClCH2CH2

< CH3CH2CH2

71. The correct order of stability of the following
carbanions is :-

(1) 3 2 2 2 3 2CH CH CH CH CH CH C (CH CO) CH

(2) 3 2 2 2 3 2CH C CH CH CH CH CH (CH CO) CH

(3) 2 2 3 2 3 2CH CH CH (CH CO) CH CH CH CH C

(4) 3 2 2 2 3 2(CH CO) CH CH C CH CH CH CH CH

72. Which of the following will give two isomeric

monochloro derivatives (structural only) :-

(1) 2,3-Dimethyl butane

(2) n-Hexane

(3) Isopentane

(4) Ethane

69.  p-

 :-

(1)

N

O

OO

(2) 

N

O

OO

(3) 

N

O

OO

(4) 

N

O

OO

70.  :-

(1) CH3OCHCH3 <  CH3OCH2 < CH3CH2CH2

< ClCH2CH2

(2) CH3CH2CH2 < ClCH2CH2 < CH3OCHCH3

< CH3OCH2

(3) ClCH2CH2 < CH3CH2CH2 < CH3OCH2

< CH3OCHCH3

(4) CH3OCH2 <  CH3OCHCH3 < ClCH2CH2

< CH3CH2CH2

71.

 :-

(1) 3 2 2 2 3 2CH CH CH CH CH CH C (CH CO) CH

(2) 3 2 2 2 3 2CH C CH CH CH CH CH (CH CO) CH

(3) 2 2 3 2 3 2CH CH CH (CH CO) CH CH CH CH C

(4) 3 2 2 2 3 2(CH CO) CH CH C CH CH CH CH CH

72.  ;

 ( ) :-

(1) 2,3-

(2) n-

(3) 

(4) 
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73. Number of aromatic compounds in the following:-

, , , ,

O

O
..
..

, , ,

(1) 6

(2) 7

(3) 4

(4) 5
74. A gaseous mixture of ethane, ethene and ethyne

is passed into an ammonical silver nitrate solution.
The gas that escapes from the solution is expected
to contain :-
(1) Ethane
(2) Ethane and ethyne
(3) Ethene and ethyne
(4) Ethane and ethene

75. Consider the following reaction sequence

2

1. R
3 3 3 32. Zn /H O

CH C CCH CH COCOCH

In the above reaction ‘R’ is :-

(1) H2O2 (2) O2

(3) O3 (4) KMnO4

76. Consider the following two reaction sequences

PhC CH

1. BH3

2. H O /OH2 2

P

Q
Aq.H SO2 4

HgSO4

The two products P and Q are, respectively :-
(1) PhCOCH3 and PhCH2CHO
(2) PhCH2CHO and PhCH2CHO
(3) PhCH2CHO and PhCOCH3

(4) PhCOCH3 and PhCOCH3

73. , , ;  ,  ; [;  :-

, , , ,

O

O
..
..

, , ,

(1) 6

(2) 7

(3) 4

(4) 5

74.  , ] ,  , ; 

 :-

(1)

(2)  ,
(3)  ,

(4)  ,

75.

2

1. R
3 3 3 32. Zn /H O

CH C CCH CH COCOCH

 ‘R’  :-

(1) H2O2 (2) O2

(3) O3 (4) KMnO4

76.

PhC CH

1. BH3

2. H O /OH2 2

P

Q
Aq.H SO2 4

HgSO4

 P  Q %  :-
(1) PhCOCH3 and PhCH2CHO
(2) PhCH2CHO and PhCH2CHO
(3) PhCH2CHO and PhCOCH3

(4) PhCOCH3 and PhCOCH3
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77. The correct structure of
6-Amino-4-hydroxycyclohex-2-ene-1-sulphonic
acid:-

(1)

SO H3

NH2

OH

(2)
SO H3

NH2HO

(3)
SO H3

NH2

OH

(4)

SO H3

NH2

HO

78. Which has maximum number of atoms:

(1) 12g Helium

(2) 4g Hydrogen

(3) 16g Oxygen

(4) 28g Nitrogen

79. In a mixture Mass ratio of the two compounds

A and B is 1 : 2. If molar mass of the componds

A and B is in the ratio of 1 : 2. Then the mol fraction

of A is  :-

(1) 0.5 (2) 0.25

(3) 0.75 (4) 0.4

80. A trasition occurs in sample of H atoms from n=5
to n = 1. If there is no wavelength obtained in
paschen series, then maximum possible number
of wavelengths obtained in Lyman series are :-
(1) 2
(2)  3
(3)  4
(4)  5

77. 6- -4- -2- -1-

 :-

(1)

SO H3

NH2

OH

(2)
SO H3

NH2HO

(3)
SO H3

NH2

OH

(4)

SO H3

NH2

HO

78. [; &

(1) 12g Helium

(2) 4g Hydrogen

(3) 16g Oxygen

(4) 28g Nitrogen

79.  ;  A  B 

1 : 2  ;  ;  A  B 

1 : 2  A  :-

(1) 0.5 (2) 0.25

(3) 0.75 (4) 0.4

80.  n = 5  n = 1 

 ; /;

/; [;  :-

(1) 2

(2)  3

(3)  4

(4)  5
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81. A microscope using suitable photon is employed

to locate an electron in an atom within a distance

of 0.1 Å. The uncertinity involved in the

measurment of its velocity is-

(1) 5.79 × 106 ms–1

(2) 6.79 × 105 ms–1

(3) 8.79 × 106 ms–1

(4) 17.79 × 106 ms–1

82. Nitric oxide reacts with Br2 and gives NOBr as per

reaction given below

2NO(g) + Br2(g)  2NOBr(g)

when 1 mol of NO and 0.5 mol of Br2 are mixed in

closed container at constant temperature, 0.6 mol of

NOBr is obtained at equilibrium. The amount of NO

at equilibrium will be :-

(1) 0.4 mol

(2) 0.3 mol

(3) 0.6 mol

(4) 0.2 mol
83. KC for the reaction at equilibrium is 0.14.

2ICl(g)  I2(g) + Cl2(g)

initial concentration of ICl was 0.78 M. If COCl2

is allowed to decompose in the atmosphere of

ICl(g), I2(g)  and Cl2(g) at equilibrium. The value

of  KC for the given reaction at same temperature

will become :-

(1) 0.10 (2) 0.07

(3) 0.21 (4) 0.14

84. If for H2(g) + 2(g) 2 (g)

1
S H S

2
 and

   H2(g) + Br2(g)  2HBr(g)

The equilibrium constants are K1 and  K2

respectively, the reaction

Br2(g) +  H2S(g)  2HBr(g) + 
1
2

S2(g) would have

equilibrium constant :-
(1) K1 ×  K2 (2)  K1/K2

(3)  K2/K1 (4)  K2
2/K1

81.  ,  ,  ,

 0.1 Å , 

 :-

(1) 5.79 × 106 ms–1

(2) 6.79 × 105 ms–1

(3) 8.79 × 106 ms–1

(4) 17.79 × 106 ms–1

82.  Br2 

 NOBr 

2NO(g) + Br2(g)  2NOBr(g)

 , =   1  NO 

0.5  Br2 ] 0.6  NOBr ;

;  NO  :-

(1) 0.4 mol

(2) 0.3 mol

(3) 0.6 mol

(4) 0.2 mol

83. ; , KC = 0.14 

2ICl(g)  I2(g) + Cl2(g)

ICl  0.78 M  ;  COCl2 

ICl(g), I2(g)  Cl2(g) ; 

 KC 

 :-

(1) 0.10 (2) 0.07

(3) 0.21 (4) 0.14

84.   H2(g) + 2(g) 2 (g)

1
S H S

2
 

  H2(g) + Br2(g)  2HBr(g)

, ; % K1  K2 

Br2(g) +  H2S(g)  2HBr(g) + 
1
2

S2(g) ; 

:-

(1) K1 ×  K2 (2)  K1/K2

(3)  K2/K1 (4)  K2
2/K1
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85. It has been found that the pH of a 0.01 M solution
of an organic acid (HA) is 4.3. The concentration

of [A–]  will  be  :-
(1) 5 × 10–5 M (2) 2.0 × 10–5 M

(3) 4.0 × 10–5 M (4) 6.0 × 10–5 M

86. The solubility product of Ag2CrO4 and AgBr are

4 × 10–12 and 4 × 10–12 respectively. What is the

ratio of 
2
4[CrO ]

[Br ]
 in their individual saturated

solutions :-
(1) 50 (2) 100 (3) 200 (4) 300

87. The ionization constant of acetic acid is

10–5. The pH of 0.1 M acetic acid and its 0.1 M

sodium salt solution respectively will be :-

(1) 3,  9 (2)  4,  8

(3)  4,  4 (4)  2,  9
88. The ionization constant of nitrous acid is 4.5 × 10–4.

The pH of 0.04 M sodium nitrite solution will be :-

(1) 4.35 (2) 3.38 (3) 5.62 (4) 7.97
89. If we take 2 moles of P, 3 moles of Q and 2 moles

of R then incorrect statement for unbalanced
reaction  :-  P  +  Q  +  R   P2Q3R, is :-
(1) After completion of reaction remaining mole

of  R  is  one
(2) After completion of reaction remaining mole

of P is one
(3) After completion of reaction remaining mole

of Q is zero
(4) After completion of reaction one mol of P2Q3R

will be formed
90. Among the following select incorrect statement

regarding spectrum :-
(1) To produce an emission spectrum, energy is

supplied to a sample by heating i t or
irradiating it

(2) An absorption spectrum is like the
photographic negative of an emission
spectrum

(3) The study of emission or absorption spectra is
refferred to as spectroscopy

(4) Many elements have similar emission spectrum

85. 0.01 M  (HA)  pH = 4.3 

 [A–]  :-

(1) 5 × 10–5 M (2) 2.0 × 10–5 M

(3) 4.0 × 10–5 M (4) 6.0 × 10–5 M

86. Ag2CrO4  AgBr %  4 × 10–12

 4 × 10–12 

2
4[CrO ]

[Br ]
 :-

(1) 50 (2) 100 (3) 200 (4) 300

87.  10–3  0.1 M ,

 0.1 M 

pH %  :-

(1) 3,  9 (2)  4,  8

(3)  4,  4 (4)  2,  9

88.  4.5 × 10–4 ] 0.04 M

 pH  :-
(1) 4.35 (2) 3.38 (3) 5.62 (4) 7.97

89.  2  P, 3  Q  2  R 

:- P + Q + R  P2Q3R, , 

 :-

(1)  ,  R 

(2)  ,  P 

(3) ;  Q 

(4)  ,  P2Q3R 

90.

(1) , 

(2) ; 

(3)  ; /;;

(spectroscopy) 

(4) 
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91. Identify the following figures A & B related to
vascular tissues.

(1) A-Trachied, B-Vessel
(2) A-Vessel,B-Tracheid
(3) A-Fibre, B-Tracheid
(4) A-Fibre, B-Sclereid

92. Angiospermic xylem consists of :-

(1) Vessels and tracheids only

(2) Tracheids and fibers only

(3) Vessels, tracheids, fibres and parenchyma

(4) Parenchyma and fibres only
93. In pteridophytes and gymnosperms, phloem

consists of all, except :-
(1) Sieve tube (2) Albuminous cell
(3) fibre (4) parenchyma

94. Root hairs are present in:-

(1) Zone of cell division

(2) Zone of cell elongation

(3) Zone of maturation

(4) Root cap

95. Secondary tissues of a plant:-

(1) add to the length of roots and shoots

(2) add to the diameter of existing roots and shoots

(3) are found only in the embryo

(4) are found only in the seeds

96. Meristems are present in:-

(1) Root apex and shoot apex

(2) Bases of leaves

(3) Axillary buds

(4) All of the above

TOPIC : Animal Diversity, Biomolecules, Plant Physiology, Plant Anatomy, Morphology.

91. = A  B

(1) A- , B-

(2) A- ,B-

(3) A- , B-

(4) A- , B-

92.
(1)
(2)
(3) ] ] 
(4) 

93. ] 

(1) (2) 
(3) (4) 

94. :-

(1)  { = 
(2)  { = 
(3)  { = 
(4) 

95.
(1)

(2) 

(3) , 
(4) , 

96.  :-
(1)

(2) 

(3) ; 
(4) 
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97. The living and non-lignified component of
vascular bundle is/are :-
(1) vessel and tracheid
(2) vessel and phloem
(3) wood fibre and phloem
(4) wood parenchyma and sieve tube

98. Xylem parenchyma stores:-

(1) starch (2) fat

(3) tannins (4) All of these
99. In angiosperm, phloem :-

(1) Both the sieve tube elements and companion
cell have nuclei

(2) Sieve tube elements have nuclei but
companion cells do not

(3) Companion cells have nuclei but the sieve
tube elements do not

(4) Neither the companion cells nor sieve tube
elements have nuclei

100. Guard cells are associated with:-
(1) Water pores (2) Lenticels
(3) Stomata (4) Guttation

101. Epidermis is derived from:-

(1) ground meristem (2) procambium
(3) protoderm (4) corpus

102. How many shoot apical meristematic zones are
expected in twig of a plant possessing 9 branches
and 39 leaves?
(1) 9 (2) 39 (3) 10 (4)  8

103. The innermost layer or last layer of cortex is called :-

(1) Pericycle (2) Conjunctive tissue

(3) Endodermis (4) Exodermis
104. In dorsiventral leaf, the location of palisade tissue

and phloem respectively is:-
(1) adaxial and abaxial
(2) abaxial and adaxial
(3) adaxial and adaxial
(4) abaxial and abaxial

105. The collective term for phelloderm (secondary
cortex) cork cambium (phellogen), and cork
(phellem) is:-

(1) Pericycle (2) Periderm

(3) Protoderm (4) Procambium

97.  ?  :-

(1)

(2) 

(3) 

(4) 

98. :-

(1) (2) 

(3) (4) 

99.

(1)

(2) ] 

(3)

(4) 

100.
(1) (2) 
(3) (4) 

101.
(1) (2) ,/
(3) (4) 

102.  { =] 9  39 
?

(1) 9 (2) 39
(3) 10 (4)  8

103.  ;  :-

(1) (2) 

(3) ,. (4) 

104. ] [ ] % :-

(1) ;{
(2) ;{

(3) ;{ ;{
(4) 

105.  ( )]  ,/  ( ) 

) ,  :  ,  :-

(1) (2) 

(3) (4) ,/
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106. Which of the following is a monocot family?
(1) Solanaceae (2) Fabaceae

(3) Liliaceae (4) Cruciferae
107. G and 

–
G indicate :-

(1) epigynous and hypogynous flowers

(2) superior ovary and inferior ovary

(3) presence and absence of gynoecium

(4) fused and free gynoecium
108. Androecium in Hibiscus is :-

(1) Didynamous and monothecous

(2) Monoadelphous and monothecous

(3) Diadelphous and bithecous

(4) Polyadelphous and monothecous

109. Parts of the fruits : Figure-I-Mango, Figure-II-
Cocount are shown in the following diagram. A,
B, C and D are, respectively

(1) Epicarp, Mesocarp, Seed, Endocarp

(2) Epicarp, Mesocarp, Ovule, Endocarp

(3) Epicarp, Mesocarp, Ovary Endocarp
(4) Epicarp, Mesocarp, Embryo, Endocarp

110. Different types of phyllotaxy are shown in the
following figures. Identify the type of phyllotaxy
(A, B and C).

(1) A-Alternate, B-Opposite, C-Whorled

(2) A-Whorled, B-Opposite, C-Alternate

(3) A-Alternate, B-Whorled, C-Opposite

(4) A-Whorled, B-Alternate, C-Opposite

106.  , ?
(1) (2) 
(3) (4) 

107. G  
–
G  :-

(1)
(2) ; ;
(3) 
(4) 

108.  :-

(1) ] 

(2)  ,

(3) 

(4)  ,

109. % =-I- ] =-II- = ,

, A, B, C  D % 

(1) ] ] ] ,.

(2) ] ] ] ,.

(3) ] ] ;] ,.

(4) ] ] ] ,.

110. = , , 
 (A, B  C).

(1) A- , B- , C-

(2) A- , B- , C-

(3) A- , B- , C-

(4) A- , B- , C-



Page 26/40 , Hindi / 22122019
Enthusiast Common Test 0000CMD302119015

111. Name the petals A, B and C in vexillary aestivation
shown in the below figure.

(1) A-Standards, B-Wing, C-Perianth

(2) A-Standard, B-Keel, C-Wing

(3) A-Wing, B-Keel, C-Wing

(4) A-Standard, B-wing, C-Keel
112. Tetradynamous (2 short and 4 long stamen)

condition is seen in:-
(1) Salvia (2) Mustard
(3) Datura (4) China rose

113. Arrangement of flowers on floral axis is called :-

(1) Placentation (2) Phyllotaxy

(3) Inflorescence (4) Angiology
114. Thorn of Citrus and Bougainvillea is modified:-

(1) stem (2) root

(3) leaf (4) inflorescence

115. A few millimeters above the root cap is the region

of dividing cells is :-

(1) elongation

(2) maturation

(3) meristematic activity

(4) root hairs

116. The function of stem is :-
(1) To bear leaves and branches
(2) Conduction of water and minerals
(3) Conduction and storage of food
(4) All of these

117. Roots developing from plant parts other than
radicle are :-
(1) Epiphyllous (2) Cauline

(3) Adventitious (4) Fibrous
118. Which of the following is not related with plant

tissues :-
(1) Vascular tissue (2) Conjunctive tissue
(3) Epidermal tissue (4) Epithelial tissue

111. = , , /  A, B  C 

(1) A- , B- , C-
(2) A- , B- , C-
(3) A- , B- , C-
(4) A- , B- , C-

112.  (2  4 ) 

(1) (2) 

(3) (4) 

113. ;  :-

(1) (2) 

(3) (4) 

114.  ,   ( )  : :-

(1) (2) +

(3) (4) 

115.  { = 

 { = 

(1)

(2) 

(3) 

(4) 

116.  :-
(1)  /
(2) 
(3)  [
(4) 

117. ; 

(1) (2) 

(3) (4) ;

118.

(1) (2) 

(3) (4) 
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119. Identify the order where plants show alternate,
opposite and whorled phyllotaxy.
(1) China rose, Calotropis and Nerium
(2) China rose, Nerium and Calotropis
(3) Nerium, Calotropis and China rose
(4) Calotropis, China rose and Nerium

120. Match column I and II with column III.
 Column I  Column II Column III

 (A) Marginal        (I)    (1) Sunflower, Marigold

 (B) Axile   (II)   (2) Dianthus, Primrose

 (C) Parietal   (III)  (3) Mustard,Argemone

 (D) Free Central  (IV)   (4) China rose, Tomato,

       Lemon

 (E) Basal   (V)  (5) Pea

(1) A-V,(5); B-II,(4); C-I, (3); D-III,(2); E-IV,(1)
(2) A-I,(5); B-II,(4); C-III, (3); D-IV,(2); E-IV,(1)
(3) A-V,(1); B-II,(4); C-I, (2); D-III,(3); E-IV,(5)
(4) A-V,(1); B-III,(2); C-II, (4); D-I,(5); E-IV,(3)

121. Which of the following is not fibrous protein ?
(1) Globulin (2) Collagen
(3) Keratin (4) Elastin

122. Casein present in the milk is :-
(1) Monosaccharide (2) Disaccharide
(3) Protein (4) Lipid

123. Which of the following is the branched polymer
of glucose ?
(1) Amylose (2) Cellulose
(3) Glycogen (4) All of the above

124. Elements that are found more abundant in earth's
crust than in human body are :-
(1) C, H, O, N, S (2)  Na,  Si,  Ca,  Mg
(3) S, Na, Ca, N (4)  Si,  H,  Mg,  O

119. ,  , ] 

(1) ]  
(2) ]  
(3) ] 
(4) ]  

120.  I  II  III 

 I      II        III

 (A)  (I)     (1) ] 

 (B) ;  (II)     (2) ] 

 (C) ;  (III)   (3) ] 

 (D)  (IV)  (4) ] ]

        

 (E) ;  (V)   (5) 

(1) A-V,(5); B-II,(4); C-I, (3); D-III,(2); E-IV,(1)
(2) A-I,(5); B-II,(4); C-III, (3); D-IV,(2); E-IV,(1)
(3) A-V,(1); B-II,(4); C-I, (2); D-III,(3); E-IV,(5)
(4) A-V,(1); B-III,(2); C-II, (4); D-I,(5); E-IV,(3)

121.  ?
(1) (2) 
(3) (4) 

122.  (Casein)  :-
(1) (2) 
(3) (4) 

123.  ?

(1) (2) 

(3) (4) 

124.
 :-

(1) C, H, O, N, S (2)  Na,  Si,  Ca,  Mg
(3) S, Na, Ca, N (4)  Si,  H,  Mg,  O
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125. The number of carbon atoms including carboxylic
carbon in Arachidonic acid is :-
(1) 16 (2) 18 (3) 20 (4) 22

126. Glucose is :-
(1) Ketose hexose sugar
(2) Aldose hexose sugar
(3) Furanose pentose sugar
(4) Pyranose pentose sugar

127. Which of the following is phospholipid ?
(1) Oleic acid (2) glycerol
(3) Prostaglandin (4) Sphingomyelin

128. Which of the following is secondary metabolite ?
(1) Antibiotics (2) Scents
(3) Rubber (4) All of the above

129. In a polysaccharide chain, the right end is called
the a end and the left end is called the b end. :-
(1) a-reducing, b-non-reducing
(2) a-reducing, b-reducing
(3) a-non-reducing, b-reducing
(4) a-non-reducing, b-non-reducing

130. Read the following statements and choose the
option which have only correct statement:-
(a) The 'R' group in Serine is hydroxy methyl

(b) Galactosidase is a reducing sugar

(c) Palmitic acid has 16 carbons including
carboxyl carbon

(d) Some secondary metabolites have ecological
importance

Option :-
(1) a, b and c (2)  a,  c  and  d
(3) b, c and d (4) a, b and d

131. Choose the incorrect option for Enzymes :
(1) Enzymes generally function in a  narrow

range of temperature and pH
(2) Enzymatic activity declines below the optimum

value of temperature
(3) Enzymatic activity increases above the

optimum value of temperature
(4) When the inhibitor closely resembles the

substrate in its molecular structure and inhibits
the activity of enzyme, it is known as
competitive inhibitor.

125.
 :-

(1) 16 (2) 18 (3) 20 (4) 22
126.  :-

(1) 
(2) 
(3) 
(4)   

127.  ?
(1)  , (2) 
(3) (4) 

128.  ?
(1) (2) =
(3) (4) 

129.  a    b
 :-

(1) a- , b-
(2) a- , b-
(3) a- , b-
(4) a- , b-

130. <+ ,] 
 :-

(a)  'R' 

(b)  ,

(c)  16 

(d) 

 :-

(1) a, b  c (2) a, c  d

(3)  b,  c   d (4) a, b  d

131. ,  &

(1) %  pH  ,

(2)  ,

(3)  , <+

(4) ] 
 ,

 ;
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132. C—C

X    Y

 X – Y + C = C

Enzyme of the above reaction is included in which

class of enzymes ?

(1) Transferases (2) Hydrolases

(3) Lyases (4) Ligases

133. (a) Gradient of concentration

(b) Permeability of membrane

(c) Temperature

(d) Pressure

(e) Solubility in lipid

(f) Size of the substance

Choose the option which has all the factors from

above (a to f) which affect the rate of diffusion.

(1) a,  b,  d,  e,  f  only

(2)  a,  c,  d,  f  only

(3) a, b, c, d only

(4)  a,  b,  c,  d,  e  and  f

134. In the following graph each of the curve P, Q and

R represents an enzyme controlled reaction.

Choose the correct option for the graph :

P Q
R

Uninhibited
enzyme

Competitive
Inhibitor
present

Non-competitive
inhibitor 
present

(1) P Q R

(2)

(3)

(4)

Q

R

P

R

P

R

P

Q

Q

132. C—C

X    Y

 X – Y + C = C

 , ] 

(1) (2) 

(3) (4) 

133. (a) 

(b) 

(c) 

(d) 

(e)  ?

(f) 

, , 

(a  f) 

(1)  a,  b,  d,  e,  f

(2)  a,  c,  d,  f

(3)  a,  b,  c,  d

(4)  a,  b,  c,  d,  e   f

134. , ,  P, Q  R  ,

, , , 

 &

P Q
R

(1) P Q R

(2)

(3)

(4)

Q

R

P

R

P

R

P

Q

Q
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135. Removal of the source of carbon dioxide from
photosynthesising chloroplast results in rapid
changes in the concentration of certain chemicals.
Which one of the following represents the correct
combination of change in concentration ?

ATP RuBP PGA
(1) Decrease Decrease Increase
(2) Decrease Increase Decrease
(3) Increase Increase Decrease
(4) Increase Decrease Increase

136. Which substances enter and leave a mitochondria
during aerobic respiration ?

Enters Leaves
(1) Sucrose CO2

(2) Pyruvate ATP
(3) Glucose NADH2

(4) ADP Lactic acid
137. Before entering the tricarboxylic acid cycle, the

pyruvate (produced by glycolytic pathway) is first
converted into :
(1) Co-enzyme-Q
(2) Ethanol
(3) Citric acid
(4) Acetyl Co-A

138. The rupture and fractionation do not usually
occurs in the water column in vessels during
ascent of sap because of :
(1) Lignified thick cell wall

(2) Transpiration pull

(3) Cohesion and adhesion

(4) Pits of xylem wall
139. Which of the following enzymes is not operational

in Rhizobium during free living conditions ?
(1) Aldolase
(2) Nitrogenase
(3) Enolase
(4) Mutase

140. Light has no direct influence on which molecule?
(1) Florigen
(2) Gibberelin
(3) Auxin
(4) Phytochrome

135. , 

ATP RuBP PGA

(1) <+

(2) <+

(3) <+ <+

(4) <+ <+

136. ; 
] 

(1) CO2

(2) ;: ATP
(3) NADH2

(4) ADP
137. ;: ] 

(1)  , -Q

(2) 

(3) 

(4)  Co-A
138. ;  [

(1)  ;

(2) 

(3) 

(4) 

139.  ,  
 ?

(1) 
(2) 
(3) 
(4) 

140. ;{
(1) 
(2) 
(3) 
(4) 
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141. Identify the plant and habitat (A) & (B) in given
figure below :-

(A) (B)

Plant A B

(1) Larkspur Water Terrestrial

(2) Larkspur Terrestrial Water

(3) Buttercup Terrestrial Water

(4) Buttercup Water Terrestrial

142. A botanist is having difficulty getting seeds to

germinate. Which of the following PGRs apply to

the seeds helps induce germination ?

(1) Auxin (2) Gibberellin

(3) Abscisic acid (4) Cytokinin

143. Match the column I with column II :-

Column I Column II

A Water splitting complex a Magnesium

B Structural component of
chlorophyll

b Copper

C Synthesis of auxin c Chloride

D Redox reaction d Zinc

Codes :-

A B C D

(1) c a d b

(2) c a b d

(3) a b c d

(4) b d a c

141. =  (A)  (B)
 %&

(A) (B)

A B

(1) ;

(2) ;

(3) ;

(4) ;

142.

;=

 ?

(1) (2) 

(3) (4) 

143.  I  II 

 I  II
A a

B  ? b

C c

D d

 :-

A B C D

(1) c a d b

(2) c a b d

(3) a b c d

(4) b d a c
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144. Which of the following respiratory processes will
arrest in the absence of oxygen ?
(i) EMP pathway (ii) TCA cycle
(iii) Chemiosmosis (iv) Lactate fermentaion
Options :-
(1) Only (i) & (iii) (2) Only (ii) & (iii)
(3) (i), (ii) & (iii) (4) (ii), (iii) & (iv)

145. Bakane disease is related to :-

Plant Hormone

(1) Wheat Ethylene

(2) Corn Cytokinin

(3) Rice Gibberellin

(4) Tomato Auxin

146. Which of the following is common characteristics
between facilitated transport and active transport?
(1) Uphill transport and requires ATP energy
(2) Uphill transport and transport saturates
(3) Downhill transport and transport saturates
(4) Highly selective and requires special

membrane proteins
147. In which climate, guttation is common among the

plants ?
(1) Hot and wet (2) Hot and windy
(3) Cold and windy (4) Cold and humid

148. If three cells A, B & C are joined to each other
and their solute potential & Turgor pressure values
are given in the figure; then demonstrate the
direction of flow of water in this system ?

(1)
C

A B

(2) 
C

A B

(3) 
C

A B

(4) 
C

A B

144. ; 
 ?

(i) EMP   (ii) TCA 
(iii)  ( ) (iv) 

 :-
(1)  (i) & (iii) (2)  (ii) & (iii)
(3) (i), (ii) & (iii) (4) (ii), (iii) & (iv)

145.  %&

(1)

(2)

(3)

(4)

146. /; ; 
 ?

(1)  ATP 
(2)
(3)
(4)

147. ; 

(1) (2) 

(3) (4) 

148.  A, B  C 
; 

(1)
C

A B

(2) 
C

A B

(3) 
C

A B

(4) 
C

A B
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149. The diagram given below shows pressure flow
model of phloem translocation. The phloem sap
is conducted from source cells to different parts
of plant body (sink cells) where it is metabolized
or stored in the form of carbohydrates. The
movement of solution is shown by arrows P, Q,
R and S.

Xylem Phloem

Q
H O2

P

Source

S
R

H O2
Sink

Match P, Q, R and S with the most appropriate
option from those given below :-
a. Active transport
b. Passive transport
c. Pressure driven flow
d. Transpirational pull

P Q R S
(1) a b c d
(2) a b d c
(3) c d a b
(4) c a b d

150. The key product of EMP pathway is :-

(1) CO2 and H2O

(2) PGAL and NAD+

(3) Pyruvic acid

(4) Triose phosphate

151. Reproduction takes place by only sexual means
in :-
(1) Pleurobrachia

(2) Spongilla

(3) Hydra

(4) Cliona

149. = 

 ( )  ;
 :

P, Q, R  S 

Q
H O2

P

S
R

H O2

P, Q, R  S 
 }  %&

a. ; 

b. ; 

c.  }

d.

P Q R S

(1) a b c d

(2) a b d c

(3) c d a b

(4) c a b d

150. EMP [;  :-

(1) CO2  H2O

(2) PGAL  NAD+

(3)

(4)

151.

(1) Pleurobrachia 

(2) Spongilla 

(3) Hydra 

(4) Cliona 
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152. Choose the incorrect match :-
(1) Camelus – Camel
(2) Pteropus – Horse
(3) Macaca – Monkey
(4) Macropus – Kangaroo

153. All mammals except a few consist of _____
cervical vertebrae :-
(1) 6 (2)  7 (3)  8 (4)  9

154. Air sacs are found in lungs of :-
(1) Calotes (2) Chelone
(3) Columba (4) Chameleon

155. Which of the following fish is also known as

"Great white shark'?

(1) Pristis (2) Trygon

(3) Clarias (4) Carcharodon

156. Reptiles, Birds and Mammals resemble in the
character of their :-
(1) Occipital condyle (2) Homeothermous
(3) Poikilothemous (4) Amnion

157. In the evolutionary history of the animal kingdom,
which of the following features have evolved for
the first time in phylum annelida?
1. Metameric segmentation
2. Organ system level of organisation
3. Closed circulatory system
4. True coelom
5. Bilateral symmetry
Select the correct answer -
(1) 1, 2 and 5 (2) 1, 2, 3 and 4
(3) 1, 3 and 4 (4) only 1 and 2

158. Which of the following sets of animals belong to

the same class ?

(1) Bangarus, Testudo

(2) Pavo, Hyla

(3) Clarias, Rana

(4) Felis, Calotes
159. The phenomenm of Autotomy and regeneration

is  well  marked  in  :
(1) Mollusca (2) Annelida
(3) Arthropoda (4) Echinodermata

152.  :-
(1) –
(2) –
(3) –
(4) – :

153.  _____
 :-

(1) 6 (2)  7 (3)  8 (4)  9
154.  :-

(1) Calotes (2) Chelone 
(3) Columba (4) Chameleon 

155.

(1) (2) 

(3) (4) 

156. ] 
&

(1) (2) 
(3) (4) 

157.

 ,

1.  [

2. = 

3. =

4. ; 

5.

(1) 1, 2  5 (2) 1, 2, 3  4

(3) 1, 3  4 (4)  1  2

158.  ;  ,

(1) ] 

(2) ] 

(3) ] 

(4) ] 

159.  {
%

(1) (2) 
(3) (4) 
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160. In amphibians, cloaca is the common opening for
(1) Alimentary canal
(2) Urinary tract
(3) Reproductive tract

(4) All of the above
161. Cnidoblasts are not used for :-

(1) Anchorage
(2) Locomotion and defence
(3) Capture of prey
(4) Reproduction

162. Which of the following is not a trait  of
marsupials ?
(1) Oviparous
(2) Presence of teats over mammary gland
(3) Presence of brood pouch
(4) All of the above

163. Osteichthyes can be differentiated from
chondrichthyes externally by the presence of
(1) Ventral mouth
(2) Lateral line system
(3) Terminal mouth
(4) Clasper

164. A file like rasping organ for feeding called Radula,
present in the phylum
(1) hemichordata (2) mollusca
(3) echinodermata (4) arthropoda

165. Coelom is lined by
(1) Ectoderm (2) Mesoderm
(3) Endoderm (4) Mesogloea

166. Segments with a serial repetition of atleast some
organ. This phenomenon is called
(1) Metagenesis (2) Metamerism
(3) Division (4) Repetition

167. In which animal, body is divided into head,
muscular foot and visceral hump ?
(1) Roundworm (2) Taenia
(3) Apis (4) Snail

168. Which of the following is mismatch?
(1) Bufo Toad

(2) Ichthyophis  Limbless amphibian

(3) Rana Frog

(4) Pterophyllum Sea horse

160. ]  opening 
(1) 
(2) = 
(3) 
(4) 

161.  ( )  :-
(1) 
(2) 
(3) 
(4) 

162.  ?
(1) 

(2) 

(3) 

(4) 

163.  :
 ?

(1) ; 
(2) =
(3) 
(4) 

164.

(1) (2) 
(3) (4) 

165.
(1) (2) 
(3) ,. (4) 

166.

(1) (2) 

(3) (4) 

167.  ] ; 
 ?

(1) Roundworm (2) Taenia
(3) Apis (4) Snail

168.
(1)  
(2)   
(3)  
(4)   ?
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169. Out of following how many animals belongs to
class reptilia ?
Chelone, Corvus, Testudo, Columba, Chameleon,
Calotes, Crocodilus, Pavo, Hemidactylus
(1) Five (2) Six
(3) Seven (4) Eight

170. Consider the following diagram and select correct
option :-

(a) (b) (c)

(i)  Sycon  (ii) Euspongia    (iii)   Spongilla
(1) a  i; b  ii;  c   iii
(2) a  ii; b  i; c  iii
(3) a  iii; b  ii;  c   i
(4) a  ii; b  iii; c  i

171. First phylum to have complete digestive tract can
be represented by : -
(1) Hydra (2) Taenia
(3) Ancylostoma (4) Pheretima

172. Cross section of animal body is given below.

Which of the following animals will satisfy the
above cross section ?
(1) Fasciola
(2) Pleurobrachia
(3) Ascaris
(4) Nereis

173. Common among tapeworm, fasciola & planaria is :-
(1) They are segmented
(2) They are free living
(3) They are parasites
(4) They have flat bodies

169.  ?
] ] ] ] ] ]

] ] 

(1) (2) 

(3) (4) 

170. =  :-

(a) (b) (c)
(i)       (ii)     (iii)  

(1) a  i; b  ii;  c   iii

(2) a  ii; b  i; c  iii

(3) a  iii; b  ii;  c   i

(4) a  ii; b  iii; c  i
171.

 :  -
(1) Hydra (2) Taenia
(3) Ancylostoma (4) Pheretima

172. %&

(1) 

(2) 

(3) 

(4) 

173. ]  :-
(1)  [
(2) 
(3)
(4) 
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174. Which of the following statement is correct for the
given figure ?

(A)Excretion by protonephredia

(B) Rounded unsegmented body

(C) Radially symmetrical

(D)It is male.

(1)  A  & B (2)  B  & D

(3)  C  & D (4) A & D

175. Polyp and medusa both forms are represented by:-

(1) Pennatula (2) Aurelia

(3) Obelia (4) Meandrina

176. Which of the following is not the feature of
Bombyx ?

(1) Chitinous exoskeleton

(2) Closed circulatory system

(3) Excretion through malpighian tubules

(4) Bilateral symmetry

177. Which one is poikilothermic and amniota ?

(1) (2) 

(3) (4) 

174. , = , ; 

(A)  }

(B)

(C) ; 

(D)

(1) A  B (2) B  D

(3) C  D (4) A  D

175.  :  } , 

(1) (2) 

(3) (4) 

176.  Bombyx 

(1)

(2) =

(3)  }

(4) 

177.  ,  ,

(1) (2) 

(3) (4) 
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178. Egg laying mammal is :-

(1) Ornithorhynchus (2) Duck

(3) Both (1) & (2) (4) Kangaroo

179. Respiration in Delphinus takes place by :-

(1) Gills (2) Skin

(3) Trachea (4) Lungs

180. Identify the correct matching pair ?

(1) Green glands - Scorpion

(2) Malpighian tubules - Prawn

(3) Coxal gland - Prawn

(4)  Gills  -  4  pairs  in  osteichthyes

178.  :-

(1) (2) 

(3) (1)  (2) (4) :

179. Delphinus  }

(1)  } (2)  }

(3)  } (4)  }

180.  ;  ?

(1)  - 

(2)  - 

(3)  - 

(4)  - osteichthyes  4 
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1. Angular

frequency
K 1200

20rad / sec
m 3

2. In SHM a = – 2k  so  16 = – 2(–4)

 = 2 Time period T = 
2

 = 
2
2

 = 

3. x = 3 sin 100 t + 8 cos250t   = 3 sin 100 t  + 8

1 cos 2t
2   = 3 sin 100 t + 4 cos 100t + 4 = 5 sin

(100t) + 4
A = 5, motion is SHM

4.
eff

T 2
g

5. In nonconservative forces total mechanical
energy is not conserve.

6. 2 2 2 21 1
&

2 2
KE mv pv PE kx qx

2 2
m p

T
k q

7. y 2 sin t
4

 so amplitude = 2  and

T = 
2

8. x = A cos t,  y  = B cos( t + )

If 
2

 & A = B  x2 + y2
 =  A2

9. Resultant amplitude  = a a a a1
2

2
2

1 22 cos

 a2 = 2a2 + 2a2cos( 1– 2)  cos( 1 – 2)=
1
2

  1 – 2 = 120° or 
2
3

rad

10. Particle will just able to complete half of the
circle.So periodic but not SHM.

11. x = A sin t =  
A

Asin
4 2

12. vmax = a  =  3  ×  10  =  30

13. Comparing with standard wave equation
y  (x,  t)  =  A  sin  (kx– t)

wavev
k

, P

dy
v

dt

14. vParticle =  –  (slope)  (vwave)

At  A : slope  +ve  so vP is  –ve.

At B : slope  –ve  so vP is +ve.

OR
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16.
2–7m 4–7m 8–7m

1
f

L

f1 :  f2 :  f3 :: 
1 1 1

: :
2 4 8

f1 :  f2 :  f3 ::  4  :2  :  1
17. (a) True

(b) String become straight
(c) amplitude depends on position.
(d) Not for every plane but for node plane only
(e) Nodes

18. For rarefaction, P = P0 – P and for
compression,  P = P0 + P

19. For a gas : Tv  V2  T

Hence, the graph will be a straight line.
At T = 0°C, velocity of a gas is not zero.

20. Since both are at 100°C No net transfer of heat.

22. 0 1 T
0 0 T

0 A

0 B

T 104 100 4
T 106 100 6

A

B

2
3

23. For latent heats,Q = mL Q ,  L

For specific heat,slope = 
dT 1
dt S

26.
Q
t

= AT4 = same but  T
red

 < T
green

as 
red

 T
red

 = 
green

T
green

 (see VIBGYOR)
 Area of red star is greater

30.
Isobaric

Isothermal
Adiabatic

Padiabatic >  Pisothermal >  Pisobaric

31. For  small  change   dQ =  dU +  dW
nCdT = nCV dT + 2nRdT  C = CV + 2R 4R
= CV + 2R    CV = 2R

Now  CV = 
1

R
 = 2R  2  – 2 = 1  = 

3
2

32. 1 2 A
A

1 1

T T W
T Q

  2 3 B
B

2 2

T T W
T Q

 1 1 2 3 1

2 2 1 2 2

Q T T T T
Q T T T T

  WA = WB

 1 3
2

T T 800 300
T 550K

2 2
.

34. Stress & total length of wire remain same.
37. At concave side pressure is less than the

convex side pressure.

38.
2

open closed

1
P v P

2

5
closed open

3

2 P P 2 3.5 3 10
v

10

= 10 m/s

39.

Let  P0 = atmospheric pressure,P1 and
P2 = pressures inside the two bubbles.

P1–P0 = 
1

4S
r , 2 0

2

4S
P P

r  or P2–P1=
2

4S
r –

1

4S
r =

pressure difference across the common
surface.
Let r = radius of curvature of the common

surface. 2 1

4S
P P

r
      

2 1

4S 4S 4S
r r r

40. 34
100 0 r g

3
 – gr

3
4500 3 –  6 rv

= ar
3
4500 3

v1016
3
2.0 3

      

mg6 rv

B

v
18
200

11 m/s
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41. Bulk modulus

 = 
3

9
3

P 100 10
2 10

v 5 10
v 100

;

speed v = 
9

3

B 2 10
1414 m / s

10

42. Let velocity of car = v

S

v
n ' n

v v  ...(i)         n"= Sv v
n '

v
 ...(ii)

from (i) & (ii)  n" = 
S

S

v v
n

v v

Now 
n"

2
n

 
S

S

v v
2

v v  v+  v
S

= 2v – 2v
S
 3v

S
 =  v  S

v
v

3

43.
S1 S2

4

x=0
x= x=2

x=3

x=4

x=0

x=4

44.

 

vscos

vs

-app = 
s

v
v – v cos

 = 
340

340 –16
 × 800 = 839.5

45. fn = nf1 = 252 Hz; fn+1 = (n+1) f1 = 336 Hz.

Now
1

252
1 336

n

n

f n

f n

n =3   1

252
f 84Hz

3

46. Zeff  IP
47. UUe is 119
48. (EN)0 >  (EN)S

(IP)0 > (IP)S

(EA)0 <  (EA)S

50. NO > Al O > Na O2 2 3 2

Amphoteric

51. OCl–O

O

O

52. XeF6 6 +  1 p distorted   octahedral
different B.A.

54. By factors

55. F C3 P P
CF3 CF3

CF3 CF3

CH3 H C3

CH3

CH3> H C3

  0  = 0

60. CO neutral (neither acid nor base)

62. H C NH2

O

, CH3NO, CnH2n+1NO

63. CH2=CH–CH=O  all the carbon atoms are sp2

hybridised.
64. Guanidene like > 2° > 1° > amide

66.
– H

Aromatic

67. Due to ortho effect NO2 goes out of plane.
68. C5H8 :

(i) C–C–C=C=C (ii) C–C=C–C=C
(iii) C=C–C–C=C (iv) C–C=C=C–C

(v) 
C–C=C=C

C
(vi) 

C=C–C=C

C
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69. Nitrogen can't have 10 valence electrons.
70. Stability of C   +I/Resonace/+M.
71. Stability of C   –I/–M.
72. 2,3-dimethylbutane contains only 2 type of

carbon atoms.
74. Ethyne contains acidic hydrogen which gives

+ve test with tollen's reagent i.e. ammonical
silver nitrate solution.

75. On reductive ozonolysis alkyne forms dione.

76. In  case  of  reagent  BH3/H2O2/OH  addition of
H2O takes place according to
antimarkovnikov's rule where as in case of aq.
H2SO4/HgSO4 it takes place according to
markovnikov's rule.

77.
SO H3

NH2HO

1
2

3
4

5
6

79. NCERT XI Pg # 20 mole fraction

80.  NCERT XI Pg # 41, 42 line specture of
hydrogen

81. NCERT XI Pg # 48, problem 2.15

88. NCERT XI Pg # 229 exercise 7.61

89. 2 3
2mol 2mol3mol 0mol
2 2 2 13 3 1mol

0mol 1mol0mol

2P 3Q R P Q R

90. NCERT XI-topic 2, emission and absorption
spectrum.

124. NCERT XIth Pg. No. # 143

125. NCERT XIth Pg. No. # 144

128. NCERT XIth Pg. No. # 146

129. NCERT XIth Pg. No. # 148

130. NCERT XIth Pg. No. # 144,145,146

157. 1,3 and 4 are the characters develop first of all
in annelida

2-Staring devoloping first of all in
platyhelminthes

5-Staring devoloping first of all in
platyhelminthes.

1,3  4  annelida ,

2-  platyhelminthes : 

5-  platyhelminthes 

169. Reptiles  are  -  Chelone, Testudo, Columba,
Chameleon, Calotes, Crocodilus, Hemidactylus.

Corvus, colunba,Pavo are Aves

& Chelone, Testudo, Columba,
Chameleon, Calotes, Crocodilus, Hemidactylus.

Corvus, colunba,Pavo  Aves

170. NCERT Pg.#49

171. NCERT Pg.#52

172. NCERT Pg.#48

173. NCERT Pg.#51

174. NCERT Pg.#52

175. NCERT Pg.#50

176. NCERT Pg.#47

178. Duck is bird not mammal so answer is (1) only

%  (1) 
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